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1. ESEEBROKREH
1-1 Poh—ARIb
® 7oh—RILEBIRY

FIE{E
N : Ef F3(N) Qy: &AM F(N) M'x:EB—HA2FNm)
RHHE 1096.2 0.0 2331.4
EHEE 9362.0 0.0 22058.6
EHRwET -10316.2 -2002.0 -30991.6
EHRAWTIT 7943.7 2002.0 24759.6
Toh—RILNEFRBIRVIG AE 1, SS400 235 N/mm?
FoA—RILMR U : M16 157 mm?
A9 —hERET R AETRE (Fe= 18 N/mm?
a9 — DRI ERE  Foy(=Fc x 2/3=f)= 12 N/mm?
. o
P
My1 \ My2 i
/ Qy! ( Qy2 \
Fey
Ty d ?
% i
Fey _%,
(a) (b)
R ERHEAF(a)
5ERYEBAMERIFIZZITRIEEDRILEDEIRYIG HE f,  f =144 ~1.6%xT = 302.7
Mo, f Sf &V 235 N/mm?
EARBOHFRE— AV MMYIETRICTROONS, (BABERS MESEAEERETIESD)
M, =1T, —§Fcy B, (I +d)+\/9 Fy’ B2(I +d)? 3¢ (B, T, (I+,d) t O
4 16 2 9 y
Foh—BERE N Ty= 73790 N —> Ty, TUh—1KAY= 36895 N
#E08:Be= 150 mm HEBFES d= 650 mm
Toh—hibhoER LIRFETORERE: d1= 87 mm
HEEFIRIUVEDORBAETOIES: 1=M/Q= 15.48 m
LLEXY IEARRIDHFERTE—AVNMy= 38061 N-m
HDBEKE—AF: cMsy= 41996 N-m
HORBIIHDDIRKE—AVE M= 30992 N*m
HABOBEBE—AVREDHIE M/My= 081 <1.0 OK!
- SRE fF E A RI(b)
S1ERY LB AMERIFIZZITAIEEDRILEDBIRYIS HE f, f =144 —1.6xT = 308.8
Mo, f =f &Y 235 N/mm?
HARBOHRE—AVIMYIETRIZTROONS, (BAEEFS MEEESEERETIER)
3 9 3
M, ={—(4 F, B, I+T,) +\/16 F,’ B, 07 P (B T, ( +d—td)}m
Toh—BERE N Ty= 73790 N —> Ty, FUh—1KDY= 36895 N
#E08:Be= 150 mm HEBFES d= 650 mm
ToA—Fibh SRR T inE TOERE: d2= 87 mm
HEEFIRIVEDO RBAETOIES: =M/Q= 12.37 m
LLEXY HERARRIDHFERTE—AVNMy= 39349 N-m
HDBEKE—AF: cMsy= 41996 N-m
ORI DDIRKE—AVE M= 24760 N*m
HABOBEBE—AVREDHIE M/My= 063 <1.0 OK!




@ BHOMEXLIZL ST

S ALE e= 29 mm
RE: 18 mm
EMES: 160 mm
WS A= 2880 mm?

B ALIZE B FE—AVMMEM=T, e

0=0+0 =T,/ A+M/Z=f (F#IRIE T E) £45 5T, 5K DB

0 =T,/A, 0 =exT,/Z.f=165(N/mm?)

165=T,/A+exT,/Z&Y T,= 44550 N
Foh—OBREHED LI
Ty,/T)= 083 <1.0 OK!
(OF 2w Zo0]: 7
AT S (EE) 165 N/mm?
X AfEIEERE ¢ 29 mm
EHMES b 160 mm
RE h : 18 mm
Z=(bxh?%) /6 8640.0 mm®
BRI A Ty,=M/2=fb-2/0 491586 N
Ty,/T,= 075 <1.0 OK!
(OF:3: 3. {]~]. 8
HEBOBAMSEEHE
MU ES b 160 mm
HERIBOEEHE t 10 mm
HEEABA F=f V3 95.3 N/mm’
HBEEAMMA T,=b-t-F 1524205 N
Tyy/To= 024 <1.0 OK!
® RN FES AN
RILIn=
RILMEESNERS= 83.1 mm
BENHEDOHBR ARSI SS400 235 N/mm?
BEEREEtET HEt= 45 mm
Ts= 50737 N
Foh—OBREHED LI
Ty,/Ts= 073 <1.0 OK!
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1-2 avH)—k (@EE7VH—RILE)
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FUoh—RILNEB RS 200 mm BKFEREEE: Ac= 80519 mm?
a—UBEISNT HaV 0 —hDEIREE  0,=0.314 (Fc)= 1.32 N/mm?
ERFREH: 0= RILYKRDS
#1  ERERE
?,
REFHER 1/3
EHRER 2/3
HrABIRTTE  T,=p,= 0 %, 0 ¥Ac= 70600 N
Toh—DEKEHED I Ty,/Ts= 052 <1.0 OK!
@ 7oh—RNLLESIL YV RE
S ZE:D= 30 mm RNE:d=
FUh—HRILNEERR DL S — X EEHE : A= 7T (D*-d)/4= 506 mm?
a9 —bREEE f=v (Ac/Ag X Fc J (Ac/Ag)= 12.6
{BL. V (Ac/A)>6MIFE . v (Ac/A)=6&L) J (Ac/Ay)= 6.0
LLE&Yf = 108 N/mm?
HFARBIR AT *A= 54626 N
Toh—DEKEHED I Ty,/Ts= 068 <1.0 OK!
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